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ADDITION FACTS TO 12 SHEET 3 

1 2 3 4 5 6 7 8 9 10 11 12 

Fill in the missing numbers. 

1) 4 + ___ = 6 16) 8 = 6 + ___ 

2) ___ + 6 = 7 17) 5 = 3 + ___ 

3) ___ + 8 = 10 18) 10 = ___ + 7 

4) 7 + 1 = ___ 19) ___ = 3 + 8 

5) 10 + ___ = 12 20) ___ = 4 + 5 

6) 8 + ___ = 8 21) 7 = ___ + 3 

7) ___ + 10 = 11 22) 10 = 9 + ___ 

8) 5 + 2 = ___ 23) 8 = ___ + 1 

9) ___ + 3 = 7 24) 10 = ___ + 8 

10) 6 + ___ = 10 25) 6 = 2 + ___ 

11) 10 + ___ = 12 26) 12 = ___ + 4 

12) 3 + ___ = 6 27) 7 = 1 + ___ 

13) ___ + 8 = 9 28) ___ = 5 + 3 

14) ___ + 11 = 12 29) ___ = 0 + 11 

15) ___ + 5 = 8 30) 8 = 2 + ___ 

Is 5 + 2 = 7 the same as 7 = 5 + 2? 
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ADDITION FACTS TO 12 SHEET 3 ANSWERS 

1) 4 + 2 = 6 16) 8 = 6 + 2 

2) 1 + 6 = 7 17) 5 = 3 + 2 

3) 2 + 8 = 10 18) 10 = 3 + 7 

4) 7 + 1 = 8 19) 11 = 3 + 8 

5) 10 + 2 = 12 20) 9 = 4 + 5 

6) 8 + 0 = 8 21) 7 = 4 + 3 

7) 1 + 10 = 11 22) 10 = 9 + 1 

8) 5 + 2 = 7 23) 8 = 7 + 1 

9) 4 + 3 = 7 24) 10 = 2 + 8 

10) 6 + 4 = 10 25) 6 = 2 + 4 

11) 10 + 2 = 12 26) 12 = 8 + 4 

12) 3 + 3 = 6 27) 7 = 1 + 6 

13) 1 + 8 = 9 28) 8 = 5 + 3 

14) 1 + 11 = 12 29) 11 = 0 + 11 

15) 3 + 5 = 8 30) 8 = 2 + 6 

Is 5 + 2 = 7 the same as 7 = 5 + 2? 

Yes, the equals ‘=’ symbol means that the two statements are equal to 

each other, and can be written either way round. 


